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Mnain A |

5.130 0,000 Ynain_

2.040 0.000 7__np_parallel_do |

4,950 0,000 %Y=quare_

4.950 0,000 Ypath_

4,890 4,890 ¥__npdo_square_1_

0.180 0,090 Yinit_ /
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Search:

E Hide 0 Functions | Show Mode Source Disassembled Source

B Running{user mode)
I Running(system mode)
M Running{graphics mode)

Thread: 0O

1: Caliper point 0 at target begin, PID 1662292

24: Target Ternination: PID -1

1; Caliper point 0 at target begin, PID 1662292

256 = oK Cancel
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Ao  Dispiay Heyp I
INTEGER i, j, k &
C
1] 4950
30 20 DO i=1,H
n = A{i, j}
30 30 D0 k=1.H
n = HIH{n, A{i,k} + Ak, j}}
EHDDO
4830 4830 Bli,j} = n
EHDDO
EHDDO
C
1] 1] EHD
C
C
C — copy A to B
C
1] 1] SUBROUTIHE copyf{A. B}
C
IHTEGER H, L, D, HAX, IHF
PARAHETER (H = 1024, L = 10, D = 1,
C
REAL A{H,H}, B{H,.H}
INTEGER i, j )
~l i i
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